8 7 6
ITEM NO.| QTY. | PART NUMBER DESCRIPTION REMARKS
01 1 30-15-100-01 AIRBOX SEE 3D MODEL / DRAWING
02 1 30-15-100-02 INLET COUPLER SEE 3D MODEL / DRAWING
03 1 30-15-100-03 AIRBOX COUPLER SEE 3D MODEL / DRAWING
04 1 30-15-100-04 INTAKE TUBE SEE 3D MODEL / DRAWING
05 1 30-15-100-FAB2 LID WITH PRESSED MAGNETS SEE 3D MODEL / DRAWING
06 1 30-15-100-06 SENSOR MOUNT WITH O-RING SEE 3D MODEL / DRAWING
07 4 30-15-100-FABT | MAGNET MOUNT WITH PRESSED MAGNET SEE 3D MODEL / DRAWING
08 1 00-00-1056 AIR FILTER - DRYFLOW - 6.25IN LONG SEE 3D MODEL / DRAWING
09 1 07-03-100-01-R2 FILTER ADAPTER SEE 3D MODEL / DRAWING
10 1 30-15-100-07 MOUNTING BRACKET 1 SEE 3D MODEL / DRAWING
11 1 30-15-100-08 MOUNTING BRACKET 2 SEE 3D MODEL / DRAWING
12 1 30-15-100-09 MOUNTING BRACKET 3 SEE 3D MODEL / DRAWING
13 6 92095A226 BHCS - Mé6x1.0 L=12mm MCMASTER-CARR # OR EQUIVALENT
14 6 95221A204 CONICAL LOCK WASHER - M6 MCMASTER-CARR # OR EQUIVALENT
15 2 921292A118 SHCS - M4x0.7 L=16mm MCMASTER-CARR # OR EQUIVALENT
16 3 91292A117 SHCS - M4x0.7 L=12mm MCMASTER-CARR # OR EQUIVALENT
17 3 93475A230 STAINLESS WASHER - M4 MCMASTER-CARR # OR EQUIVALENT
18 5 92148A160 STAINLESS SPLIT LOCK WASHER - M4 MCMASTER-CARR # OR EQUIVALENT
19 1 HNT57-79 WORM GEAR CLAMP - 57mm-79mm USE SXTH SUPPLIER OR EQUIVALENT CLAMP RANGE / 304SS
20 2 HNT70-92 WORM GEAR CLAMP - 70mm-92mm USE SXTH SUPPLIER OR EQUIVALENT CLAMP RANGE / 304SS
21 1 HNT83-105 WORM GEAR CLAMP - 83mm-105mm USE SXTH SUPPLIER OR EQUIVALENT CLAMP RANGE / 304SS
22 1 1120A412 PUSH-ON SEAL STRIP - LENGTH = 37.4 SEE DRAWING

NOTES:

2 1
REVISIONS
REV. DESCRIPTION DATE
0 INITIAL RELEASE 10/16/2024

1. ASSEMBLY MUST BE PERFORMED IN ACCORDANCE WITH 30-15-100 ASSEMBLY VIDEO INSTRUCTION.
2. PACKAGING MUST BE PERFORMED IN ACCORDANCE WITH 30-15-100-PACK INSTRUCTION.

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

TOLERANCES:

ANGULAR: +0.5°

ONE PLACE DECIMAL: £0.1
TWO PLACE DECIMAL: +0.01
THREE PLACE DECIMAL: +0.005

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
SXTH ELEMENT ENGINEERING. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
SXTH ELEMENT ENGINEERING IS STRICTLY
PROHIBITED.

CHECKED -

ELEMENT ENGINEERING SCALE:NTS

DO NOT SCALE DRAWING TITLE

NAME DATE

DRAWN

TACOMA

CPLT INTAKE

30-15-100 O

TI I SIZE DWG. NO. REV

SHEET 1 OF 1



	Sheet1
	Drawing View1
	Drawing View4


